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QUESTION 1

Solve the equation and choose the best answer. 9/b = b/4

D. 36

Correct Answer: C

QUESTION 2

Express this number as a percentage: 9/40.
A. 0.0225%

B. 22.5%

C. 0.225%

D. 2.25%

Correct Answer: B

QUESTION 3
Precipitation (inches)
Date Albany Coral Bay Bunbury
6/1 0.01 0.02 0.02
6/2 0.25 0.35 0.00
6/3 0.55 0.75 0.20
6/4 0.00 0.45 0.10
6/5 0.90 1.01 0.50
6/6 2.00 2.15 1.90
6/7 0.95 1.05 1.15

How much more rain did Albany receive than Bunbury on the third of the month?

A. 0.30 inches
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B. 0.25 inches
C. 0.35inches
D. 0.55 inches

Correct Answer: C

QUESTION 4

The following items were purchased at the grocery store.

Item Cost Quantity
Milk $3.50/carton 2
Banana $0.30 each 5
Can of soup $1.25/can 3
Carrots $0.45 /stick 6

What was the average price paid for the items?
A. $0.34
B. $0.55
C. $0.93
D. $1.38

Correct Answer: C

QUESTION 5
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In the figure, which pair(s) of labeled angles are equal to each other?

A. angles Al and A4

B. angles A2 and A3 C. both angle pairs A2 and A3 and Al and A4

D. angles A4 and A6

Correct Answer: B
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